Zo] 7}

0]

SollM 2=

UL E:

ok ol

Q y=2x?

— |

@ y=

@ y=-5x2

® y=x?

@ y=-3x2



oAt y = x* o] I Lo Higte] v F & A

@ o= B3 qefmolch
@ A (-2, 4) = Ado

@ 94 (0, 0)= FAH L= Qi

@ y=—x? ] TR}y Fof thste] chelrt.
® x<0 o, x ¢ o] Z7I5HH y 2] gt

or o
1o 1

gt

A

29



3. o

jille
ek

1 Hoj19
2 o]at —’Fy:§x2+194y94 o] W=y

D y>1 @ y<1 ® y>-2

@ y<-2 ®y20



=L 1
Ol't

y = —2x2 O] TR Zo] WA Ae] x5 7} HES

ol
BN



3(x+ 4% - 2 o] TR m) A BALY] HEE (4, b),
Pl a+ b - c O F2 FSHH?

ek



6. olART y=ax® O IHZIT H(=3, 27) & AL, a 9 F27

© -2 @ 2 ® 3 @ -3 ® 9



@ y=2(x+1)?2-3 @ y=2(x-1)%*-3

@ y=-2(x+1)?2-3 @ y=2(x+1)2+3

®y=2(x-1)2+3



2, 1) o]aL, y &1+ w9 2:7} (0, 9) ¢1 ]2}
X2 4+ bx+c & EZ YERNH?

o
P
o
1o
i)
< R
N
)
Q —

®©y=x>-6x+9 @ y=2x"-8x+9

® y=3x2-10x+9 @ y=-2"+9

® y=-3x2+11x-9



N

@ 7 ® 11

® 3



10.

S1IBEA 942 O ool woko]l Ay x =149 o, =54
OIAHS y = 24% O] I} 29

2 2 olxkg4 o] A2

@ y=2(x-1)2 @ y=2(x-1)>%+4

® y=2(x+1)2+4 @ y=-2(x+1)>2+4

® y=-2(x-1)2+4



11, QAREy = mx+n ) THTI} b Tzt 2L o, ol2bg
y =2 £ mxtn €] TRHZ] B 2

yll

)

O 2\ T

@ A1 A2 @ 7 2 AHEW
® A 3 A= @ A 4 AHEA

®xEEEyE 9



12, oAgFy=al +bx+c o At g} 2SS, a-b-c 9
2

D 6 @ 9 ® 12 @ 18 ® 24



13. o124 y =122 ax+ b 7bx =1 A A% 4E A W at b
o ke

@ 2 @ 4 @ 6 @ 8 ® 10






15.

rr &L
= o

o1}
Z3

Lo

e

A
Ty
%

3Kel]
=

—x? 4 3x+4 9] TemA A
o, AOAB 9] Yo]&=?

yl\ A




